Quantity: 1 piece

DUCATI Multistrada V4S(2022-) PIKE TRACKER

571 Left side rack

Quantity: 1 piece

571 Right side rack

Series Side Case Rack Accessories List

3

N\

Quantity: 1 piece

8

=

S e

Quantity: 2 pieces

Outer diameter: 25mm
Inner diameter: 7mm
Height: 43.5mm

Quantity: 4 pieces

M6 X 16
Torque: 12N-m

571 Connection bar

Quantity: 1 piece

Quantity: 1 piece

571 support plate

Quantity: 2 pieces

Quantity: 1 piece

M8 X 45
Torque: 22N-m

Quantity: 8 pieces

M6 gaskets

M6 X 20
Torque: 12N-m

Quantity: 2 pieces

571 Fixing part

Quantity: 1 piece

Outer diameter: 13.5mm
Inner diameter: 8.2mm

Height: 5.2mm
.

Model: JP571B

4 )

@

—_

— I

Quantity: 2 pieces

Outer diameter: 25mm
Inner diameter: 7mm

Quantity: 2 pieces

Quantity: 6 pleces

M8 gaskets

Quantity: 1 piece

M6 X 55
Torque: 12N-m
\_ _J
4 Y
18
/ @17.8
Ir-..r *|’_ |
]E“n *i @14 |_ -
7 |
' __o10 |
Q@16 _

M8 X 16
Torque: 22N-m

13

Quantity: 2 pieces

M8 X 20
Torque: 22N-m

Quantity: 2 pieces

Outer diameter: 17.8mm
Inner diameter: 10mm

Height: 11.5mm
.

.

Quter diameter: 22mm

Inner diameter: 14mm
Height: 13.9mm

Quantity: 1 pilece

Height: 6.5mm
\. J
& 3
s/

Quantity: 3 pieces

M8 X 25
Torque: 22N-m

Screw glue

02



DUCATI Multistrada V4S5(2022-)
PIKE TRACKER Series Side Case
Rack Installation Diagram

Notes.

1.Please read the installation instructions before installation.

2.Do not tighten the fixing screws when installing each part in turn,
and then apply the appropriate amount of screw glue after each
part isinstalled.Then tighten all the screws, and note the torque
requirement of each screw (see the above accessories list).

3.Regularly check the fixing screws of each part.
i {111} i i 1] I

0 1 2 5 L D 6 / 8 9 10

02



